
  

OCTOBER 2012  U/ID 14672/NCJ 

Time : Three hours Maximum : 100 marks 

PART A — (10 × 3 = 30 marks) 

Answer any TEN questions. 

All questions carry equal marks. 

1. Find BA, . 

 ( ) ( )108237 A−  

 ( ) ( )21662 BD − . 

 BA,  I Psk¤i. 

 ( ) ( )108237 A−  

 ( ) ( )21662 BD − . 

2. What are Logic gates? 

 Logic gates GßÓõÀ GßÚ? 

3. Simplify the boolean expression 

AABABCY ++= . 

 RÌ öPõkUP¨£mkÒÍ §¼¯ß ÷PõøÁø¯ _¸USP.  
AABABCY ++= . 
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4. Define the boolean algebra. 

 §¼¯ß algebra –øÁ Áøµ¯Ö. 

5. Write down the MC-clausky tabulation method 

steps. 

 MC-clausky tabulation method –À EÒÍ £iPøÍ 
GÊuÄ®. 

6. What is sequential Logic circuit? Give an example.  

 Sequential Logic circuit GßÓõÀ GßÚ? J¸ 
Euõµn® u¸P. 

7. What are flip-flops? Given example. 

 Flip-flops GßÓõÀ GßÚ? Euõµn® u¸P. 

8. Define counters. Give an example. 

 Counters Áøµ¯Ö. J¸ Euõµn® u¸P. 

9. What is meant by encoder? 

 Encoder  GßÓõÀ GßÚ? 

10. Define : multiplexer. 

 Multiplexer  – Áøµ¯Ö. 
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11. Define – Accumulator. 

 Accumulator –  Áøµ¯Ö. 

12. What is meant by Register? 

 Register GßÓõÀ GßÚ? 

PART B — (5 × 6 = 30 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

13. Convert the following and find srqp ,,, . 

 (a) ( ) ( )10210001101 p=  

 (b) ( ) ( )108574 q=  

 (c) ( ) ( )810919 r=  

 (d) ( ) ( )10165 sE = . 

 R÷Ç öPõkUP¨£mkÒÍøÁPøÍ ©õØÔ srqp ,,, –IU 

Psk¤i. 

 (A) ( ) ( )10210001101 p=  

 (B) ( ) ( )108574 q=  

 (C) ( ) ( )810919 r=  

 (D) ( ) ( )10165 sE = . 
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14. List the boolean algebra postulates and prove 

them. 

 Boolean algebra postulates –I Á›ø\¨£kzv 
AÁØøÓ {ÖÄP. 

15. Simplify the following Boolean expression by using 

Karnaugh map ( ) ++= DCBCBADCBAF ,,,  

CBADBCA + . 

 R÷Ç öPõkUP¨£mkÒÍ §¼¯ß ÷PõøÁø¯ 
Karnaugh Áøµ£h® ‰»® _¸UPÄ®. 

 ( ) ++= DCBCBADCBAF ,,,  CBADBCA + . 

16. Describe about the Shift Registers with diagram.  

 Shift Register £ØÔ Áøµ£hzxhß ÂÁ›. 

17. Explain about the synchronous counters with neat 

diagram and truth table. 

 Synchronous counters £ØÔ Áøµ£h® ©ØÖ® 
AmhÁøn²hß ÂÍUSP. 

18. Discuss about the Half-subtractors with suitable 

diagram. 

 Half-subtractors £ØÔ _ØÖ¨ £hzxhß ÂÁõvUP. 

19. Write note on ALU with details.  

 ALU £ØÔ Â›ÁõP SÔ¨¦ GÊuÄ®.  

[P.T.O.]
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

20. Briefly explain about the NAND, NOR and EX-OR 

gates with detail. 

 NAND, NOR ©ØÖ® EX-OR gates £ØÔ _¸UP©õP 
ÂÍUSP. 

21. Reduce the following equation 

( )13,11,10,8,5,3,2,0mf ∑=  using the Mc Cluskey 

method. 

 Mc Cluskey method—I £¯ß£kzv R÷Ç 
öPõkUP¨£mkÒÍ \©ß£õmiøÚ _¸UPÄ® 

( )13,11,10,8,5,3,2,0mf ∑= . 

22. Simplify the following Boolean expression by using 

Karnaugh map ( ) ++= DCBAABCDDCBAY ,,,  

ABCBA + . 

 R÷Ç öPõkUP¨£mkÒÍ §¼¯ß ÷PõøÁø¯ 
Karnaugh map ‰»® _¸UPÄ® 

( ) ++= DCBAABCDDCBAY ,,,  ABCBA + , 

23. Briefly explain about the JK flip-flop with circuit 

and truth table.  

 JK flip-flop–ß ö\¯À£õmiøÚ Áøµ£h® ‰»® 
AmhÁøn²hß _¸UP©õP ÂÍUSP. 



 U/ID 14672/NCJ 6

24. Discuss about the Full adder with suitable 

diagram. 

 Full adder –I uS¢u Áøµ£hzxhß ÂÁõvUP. 

25. Briefly explain about the design of status register.  

 Design of status register–I _¸UP©õP ÂÍUPÄ®. 

  

———————  


